

AN ELEMENTARY THREE-VARIABLE INEQUALITY WITH CONSTRAINTS FOR THE POWER FUNCTION OF THE NORMS ON SOME METRIC SPACES

ZHENG LI*, TIE ZHANG AND CHANG-JUN LI

(Communicated by J. Matkowski)

Abstract. A three-variable inequality with constraints for the p -power function of the norms on some metric spaces is established by an elementary technique. The new inequality performs sharper than the classical triangle inequality in the case $p = 1$. The performance of the involved corollaries are compared with Jensen's inequality and Clarkson's inequality.

1. Introduction

The importance of inequalities is evident to each researcher. Mathematicians presented a lot of powerful inequalities (see [1]-[12]), and benefited from them in return. Research on the inequality for the power function of norms may not seem very attractive, but it is actually useful. For example, the Clarkson's inequality, which is stated as follows, plays an important role in investigating the convexity of the space $L^p(\Omega)$.

THEOREM 1. (*Clarkson's Inequality*)([13, p.44]) *Let $u, v \in L^p(\Omega)$. Then*

$$\left\| \frac{u+v}{2} \right\|_p^p + \left\| \frac{u-v}{2} \right\|_p^p \leq \frac{\|u\|_p^p + \|v\|_p^p}{2}, \text{ if } 2 \leq p < \infty;$$

$$\left\| \frac{u+v}{2} \right\|_p^p + \left\| \frac{u-v}{2} \right\|_p^p \geq \frac{\|u\|_p^p + \|v\|_p^p}{2}, \text{ if } 1 < p \leq 2.$$

In this paper, we propose a three-variable inequality for the power function of the norms. The inequality has the type as

$$\|x+y\|_p^p + \|x+z\|_p^p \geq \|x+y+z\|_p^p + \|x\|_p^p, \text{ under condition 1,}$$

$$\|x+y\|_p^p + \|x+z\|_p^p \leq \|x+y+z\|_p^p + \|x\|_p^p, \text{ under condition 2.}$$

Here the function $\|\cdot\|_p^p$ represents the p -power function of the norm $\|\cdot\|_p$ on the given space. We prove that the new inequality holds not only for the case $p = 2$ on the real

Mathematics subject classification (2010): 26D15, 39B62.

Keywords and phrases: Three-variable inequality, triangle inequality, Jensen's inequality, Clarkson's inequality, inequality for the power function of the norm.

* Corresponding author.

inner product space, but also for the case $1 \leq p < \infty$ on some other spaces, such as \mathbb{R} and $L^p(\Omega)$. The special case " $p = 1$ " of this inequality performs sharper than the well-known triangle inequality. Moreover, as the corollary of the new inequality, a special case of Jensen's inequality, whose performance approximates to the result of Theorem 1, is also given for various cases.

The remaining sections of this article is organized as follows. In Section 2, we prove that the new inequality holds for $\|\cdot\|^2$ (i.e. $p = 2$) on the real inner product space. In Section 3, via an elementary (but effective) procedure we investigate the new inequality on \mathbb{R} for $p \in [1, \infty)$, and get some corollaries. Finally in Section 4 we extend the discussion to the space $L^p(\Omega, \mu)$. Based on the primary results of Section 3, we establish the corresponding inequalities on $L^p(\Omega, \mu)$. A further investigation for the case $\|\cdot\|_q^p, q \neq p$, while norms $\|\cdot\|_q$ and $\|\cdot\|_p$ are equivalent, is researched as well.

2. Results on the real inner product space

Let us look at some enlightening results on the real inner product space X first. Assume the norm $\|\cdot\|$ is induced by the real inner product $\langle \cdot, \cdot \rangle$ on X , i.e.,

$$\|x\| = \langle x, x \rangle^{1/2}, \quad \forall x \in X. \tag{1}$$

We have following results.

PROPOSITION 1. *Let the norm $\|\cdot\|$ be defined as (1). Then for $\forall x, y, z \in X$, we have*

$$\begin{aligned} \|x+y\|^2 + \|x+z\|^2 &\geq \|x+y+z\|^2 + \|x\|^2, \text{ if } \langle y, z \rangle \leq 0; \\ \|x+y\|^2 + \|x+z\|^2 &\leq \|x+y+z\|^2 + \|x\|^2, \text{ if } \langle y, z \rangle \geq 0. \end{aligned}$$

Proof. Since

$$\begin{aligned} &\|x+y\|^2 + \|x+z\|^2 - \|x+y+z\|^2 - \|x\|^2 \\ &= \langle x+y, x+y \rangle + \langle x+z, x+z \rangle - \langle x+y+z, x+y+z \rangle - \langle x, x \rangle \\ &= \langle x+y, x+y \rangle + \langle x, x \rangle + 2\langle x, z \rangle + \langle z, z \rangle - \langle x+y, x+y \rangle - 2\langle x+y, z \rangle - \langle z, z \rangle - \langle x, x \rangle \\ &= -2\langle y, z \rangle, \end{aligned}$$

we conclude this proposition. \square

COROLLARY 1. *Under the assumption of Proposition 1, if $\langle y, z \rangle = 0$, then for $\forall x \in X$, following equality is true.*

$$\|x+y\|^2 + \|x+z\|^2 = \|x+y+z\|^2 + \|x\|^2.$$

There is another equality which is the well-known "parallelogram law" for the special case $z = -y$ of Proposition 1 as follows (see [6, p.568] and [14, p.219]),

$$\|x+y\|^2 + \|x-y\|^2 = \langle x+y, x+y \rangle + \langle x-y, x-y \rangle = 2\|x\|^2 + 2\|y\|^2, \tag{2}$$

which is also a special case of Clarkson’s inequality. This beautiful equality is an important reference for the discussion in the remaining sections.

Proposition 1 is essentially an inequality of the inner product, and it enlighten us to search for similar inequalities on a more general space. To this end, we will first prepare some primary theoretical tools for the further study.

3. Results on \mathbb{R}

Let \mathbb{R} denote the set of real numbers and $|\cdot|$ represent the absolute value function on \mathbb{R} . For the given numbers $p, \lambda \in \mathbb{R}$ which satisfy $1 \leq p < \infty$ and $0 \leq \lambda \leq 1$ respectively, we say $p \in [1, \infty)$ and $\lambda \in [0, 1]$.

For the given number $z \in \mathbb{R}$, we define a function from \mathbb{R} to \mathbb{R} :

$$F_z(x) = |x+z|^p - |x|^p, \quad p \in [1, \infty). \tag{3}$$

The monotonicity of $F_z(x)$ is described as follows.

LEMMA 1. *The function $F_z(x)$ defined by (3) is non-decreasing if $z \geq 0$, and non-increasing if $z \leq 0$.*

Proof. If $z \geq 0$, then we have

$$F_z(x) = \begin{cases} (x+z)^p - x^p, & \text{if } 0 < x \leq x+z; \\ (x+z)^p - (-1)^p x^p, & \text{if } x \leq 0 \leq x+z; \\ (-1)^p [(x+z)^p - x^p], & \text{if } x \leq x+z < 0, \end{cases}$$

and its derivative function for each case is:

$$F'_z(x) = \begin{cases} p[(x+z)^{p-1} - x^{p-1}], & \text{if } 0 < x \leq x+z; \\ p[(x+z)^{p-1} + (-x)^{p-1}], & \text{if } x \leq 0 \leq x+z; \\ -p\{[-(x+z)]^{p-1} - (-x)^{p-1}\}, & \text{if } x \leq x+z < 0. \end{cases}$$

It follows that $F'_z(x) \geq 0$ for all the three cases, which means $F_z(x)$ is non-decreasing provided $z \geq 0$.

Otherwise, if $z \leq 0$, we let $y = x+z$, i.e., $x = y-z$, and then

$$F_z(x) = |y|^p - |y-z|^p = -(|y-z|^p - |y|^p) = -F_{-z}(y).$$

Noticing $(-z) \geq 0$, it follows that $F_{-z}(y)$ is non-decreasing, which implies that $F_z(x) = -F_{-z}(y) = -F_{-z}(x+z)$ is non-increasing. Thus we prove this lemma. \square

Based on Lemma 1 we obtain some inequalities on \mathbb{R} .

PROPOSITION 2. *If $p \in [1, \infty)$, then for $\forall x, y, z \in \mathbb{R}$, we have*

$$|x+y|^p + |x+z|^p \geq |x+y+z|^p + |x|^p, \quad \text{if } y \cdot z \leq 0; \tag{4}$$

$$|x+y|^p + |x+z|^p \leq |x+y+z|^p + |x|^p, \quad \text{if } y \cdot z \geq 0. \tag{5}$$

Proof. Observing the two sides of the inequality (4), we have

$$\begin{aligned} \text{left} - \text{right} &= |x + y|^p + |x + z|^p - (|x + y + z|^p + |x|^p) \\ &= |x + y|^p - |x|^p - (|x + z + y|^p - |x + z|^p), \\ &= F_y(x) - F_y(x + z), \end{aligned}$$

where the function $F_y(x)$ is defined as (3). Hence it follows from Lemma 1 that

$$\text{left} - \text{right} \begin{cases} \geq 0, & \text{if } y \geq 0, z \leq 0; \text{ or } y \leq 0, z \geq 0; \\ \leq 0, & \text{if } y \geq 0, z \geq 0; \text{ or } y \leq 0, z \leq 0. \end{cases}$$

Therefore, we get (4) and (5), and complete the proof. \square

REMARK 1. The special case $p = 1$ of Proposition 2 is

$$\begin{cases} |x + y| + |x + z| \geq |x + y + z| + |x|, \forall x \in \mathbb{R}, y \cdot z \leq 0; \\ |x + y| + |x + z| \leq |x + y + z| + |x|, \forall x \in \mathbb{R}, y \cdot z \geq 0. \end{cases} \tag{6}$$

Compared with the corresponding results of triangle inequality

$$\begin{cases} |x + y| + |x + z| \geq |2x + y + z|; \\ |2x + y + z| \leq |x + y + z| + |x|, \end{cases}$$

inequality (6) is obviously performs sharper.

Some corollaries are derived immediately.

COROLLARY 2. If $p \in [1, \infty)$, then for $\forall x, y \in \mathbb{R}$ and $\lambda \in [0, 1]$, we have

$$|x + y|^p + |x - y|^p \geq 2[\lambda|x|^p + (1 - \lambda)|y|^p]. \tag{7}$$

Proof. Let $z = -y$ in inequality (4), it yields

$$|x + y|^p + |x - y|^p \geq 2|x|^p,$$

and

$$|x + y|^p + |x - y|^p = |y + x|^p + |y - x|^p \geq 2|y|^p.$$

Therefore, $|x + y|^p + |x - y|^p$ should not be less than any convex combination of $2|x|^p$ and $2|y|^p$. The proof is completed. \square

For arbitrary numbers $u, v \in \mathbb{R}$, there always exist numbers $x, y \in \mathbb{R}$, so that

$$u = x + y, \quad v = x - y,$$

where

$$x = (u + v)/2, \quad y = (u - v)/2.$$

Hence Corollary 2 can be restated as the following equivalent form.

COROLLARY 3. If $p \in [1, \infty)$, then for $\forall u, v \in \mathbb{R}$ and $\lambda \in [0, 1]$, we have

$$|u|^p + |v|^p \geq 2 \left[\lambda \left| \frac{u+v}{2} \right|^p + (1-\lambda) \left| \frac{u-v}{2} \right|^p \right]. \tag{8}$$

REMARK 2. The special case $\lambda = 1$ of Corollary 3 leads to the following inequality

$$\frac{|u|^p + |v|^p}{2} \geq \left| \frac{u+v}{2} \right|^p, \quad p \in [1, \infty),$$

which is a special case of Jensen’s inequality.

REMARK 3. The special case $p = 1, \lambda = 1$ of Corollary 3 coincides with the triangle inequality

$$|u| + |v| \geq |u + v|,$$

which indicates that Corollary 3 generalizes the triangle inequality on \mathbb{R} .

COROLLARY 4. If $p \in [1, \infty)$, then for $\forall x, y \in \mathbb{R}$ and $\lambda \in [0, 1]$, following inequality is true.

$$|x + y|^p \leq \frac{1}{2} [\lambda |x|^p + (1 - \lambda) |y|^p + \lambda |x + 2y|^p + (1 - \lambda) |y + 2x|^p]. \tag{9}$$

Proof. Let $z = y$ in inequality (5), it follows that

$$2|x + y|^p \leq |x + 2y|^p + |x|^p,$$

and symmetrically

$$2|x + y|^p = 2|y + x|^p \leq |y + 2x|^p + |y|^p.$$

Therefore, we have

$$2|x + y|^p \leq \lambda (|x + 2y|^p + |x|^p) + (1 - \lambda) (|y + 2x|^p + |y|^p), \quad \forall \lambda \in [0, 1],$$

and prove the inequality (9). \square

4. Results on $L^p(\Omega, \mu)$

Next we apply the primary results to the well-known metric space. Let (Ω, μ) be a measure space, and $p \in [1, \infty)$. The space $L^p(\Omega, \mu)$ is defined as the collection of equivalence classes of measurable functions for which $\|f\|_{\Omega, p} < \infty, \forall f \in L^p(\Omega, \mu)$, where

$$\|f\|_{\Omega, p} = \left(\int_{\Omega} |f|^p d\mu \right)^{1/p} \tag{10}$$

is the p -norm on $L^p(\Omega, \mu)$ (see [1], [14]). In this article, for the given $f_1, f_2 \in L^p(\Omega, \mu)$ we define the subsets associated with the value of f_1 and f_2 as follows.

$$E_-(f_1, f_2) = \{x \in \Omega \mid f_1(x)f_2(x) < 0\}, \tag{11}$$

$$E_+(f_1, f_2) = \{x \in \Omega \mid f_1(x)f_2(x) > 0\}, \tag{12}$$

$$E_0(f_1, f_2) = \{x \in \Omega \mid f_1(x)f_2(x) = 0\}, \tag{13}$$

It is obvious that

$$\Omega = E_-(f_1, f_2) \cup E_+(f_1, f_2) \cup E_0(f_1, f_2),$$

and for arbitrary vectors $f, f_1, f_2 \in L^p(\Omega, \mu)$, the relationship between the p -power functions of the corresponding norms can be expressed as follows:

$$\begin{aligned} \|f\|_{\Omega, p}^p &= \|f\|_{E_-(f_1, f_2), p}^p + \|f\|_{E_+(f_1, f_2), p}^p + \|f\|_{E_0(f_1, f_2), p}^p \\ &= \|f\|_{E_-(f_1, f_2) \cup E_0(f_1, f_2), p}^p + \|f\|_{E_+(f_1, f_2), p}^p \\ &= \|f\|_{E_-(f_1, f_2), p}^p + \|f\|_{E_+(f_1, f_2) \cup E_0(f_1, f_2), p}^p \end{aligned}$$

Based on the results on \mathbb{R} , we have following results.

PROPOSITION 3. *If $p \in [1, \infty)$, then for $\forall f, g, h \in L^p(E, \mu)$, following inequalities are true.*

$$\begin{aligned} \|f + g\|_{\Omega, p}^p + \|f + h\|_{\Omega, p}^p &\geq \|f + g + h\|_{E_-(g, h) \cup E_0(g, h), p}^p + \|f\|_{E_-(g, h) \cup E_0(g, h), p}^p \\ &\quad + \|f + g\|_{E_+(g, h), p}^p + \|f + h\|_{E_+(g, h), p}^p, \end{aligned} \tag{14}$$

$$\begin{aligned} \|f + g\|_{\Omega, p}^p + \|f + h\|_{\Omega, p}^p &\leq \|f + g + h\|_{E_+(g, h) \cup E_0(g, h), p}^p + \|f\|_{E_+(g, h) \cup E_0(g, h), p}^p \\ &\quad + \|f + g\|_{E_-(g, h), p}^p + \|f + h\|_{E_-(g, h), p}^p. \end{aligned} \tag{15}$$

Proof. We will mainly prove the inequality (14). It follows from (4) that

$$\begin{aligned} &\|f + g\|_{E_-(g, h) \cup E_0(g, h), p}^p + \|f + h\|_{E_-(g, h) \cup E_0(g, h), p}^p \\ &= \int_{E_-(g, h) \cup E_0(g, h)} |f(x) + g(x)|^p d\mu + \int_{E_-(g, h) \cup E_0(g, h)} |f(x) + h(x)|^p d\mu \\ &= \int_{E_-(g, h) \cup E_0(g, h)} [|f(x) + g(x)|^p + |f(x) + h(x)|^p] d\mu \\ &\geq \int_{E_-(g, h) \cup E_0(g, h)} [|f(x) + g(x) + h(x)|^p + |f(x)|^p] d\mu \quad (\text{from (4)}) \\ &= \|f + g + h\|_{E_-(g, h) \cup E_0(g, h), p}^p + \|f\|_{E_-(g, h) \cup E_0(g, h), p}^p, \end{aligned}$$

Therefore,

$$\begin{aligned} \|f + g\|_{\Omega, p}^p + \|f + h\|_{\Omega, p}^p &= \|f + g\|_{E_-(g, h) \cup E_0(g, h), p}^p + \|f + h\|_{E_-(g, h) \cup E_0(g, h), p}^p \\ &\quad + \|f + g\|_{E_+(g, h), p}^p + \|f + h\|_{E_+(g, h), p}^p \\ &\geq \|f + g + h\|_{E_-(g, h) \cup E_0(g, h), p}^p + \|f\|_{E_-(g, h) \cup E_0(g, h), p}^p \\ &\quad + \|f + g\|_{E_+(g, h), p}^p + \|f + h\|_{E_+(g, h), p}^p, \end{aligned}$$

the inequality (14) is proved.

The proof for inequality (15) is a simple modification of above process, thus be omitted. \square

COROLLARY 5. *If $p \in [1, \infty)$, then for $\forall f, g \in L^p(\Omega, \mu)$, $\lambda \in [0, 1]$, following inequalities hold.*

$$\|f + g\|_{\Omega, p}^p + \|f - g\|_{\Omega, p}^p \geq 2 \left[\lambda \|f\|_{\Omega, p}^p + (1 - \lambda) \|g\|_{\Omega, p}^p \right], \tag{16}$$

$$\|f\|_{\Omega, p}^p + \|g\|_{\Omega, p}^p \geq 2 \left[\lambda \left\| \frac{f+g}{2} \right\|_{\Omega, p}^p + (1 - \lambda) \left\| \frac{f-g}{2} \right\|_{\Omega, p}^p \right], \tag{17}$$

$$\|f + g\|_{\Omega, p}^p \leq \frac{1}{2} \left[\lambda \|f\|_{\Omega, p}^p + (1 - \lambda) \|g\|_{\Omega, p}^p + \lambda \|f + 2g\|_{\Omega, p}^p + (1 - \lambda) \|2f + g\|_{\Omega, p}^p \right]. \tag{18}$$

Proof. Let $h = -g$ in inequality (14). It is obvious that $E_+(g, -g) = \emptyset$ and

$$\Omega = E_-(g, -g) \cup E_0(g, -g).$$

Thus, it follows from (14) that

$$\|f + g\|_{\Omega, p}^p + \|f - g\|_{\Omega, p}^p \geq 2\|f\|_{\Omega, p}^p, \tag{19}$$

and

$$\|f + g\|_{\Omega, p}^p + \|f - g\|_{\Omega, p}^p = \|g + f\|_{\Omega, p}^p + \|g - f\|_{\Omega, p}^p \geq 2\|g\|_{\Omega, p}^p. \tag{20}$$

Alternately, let $h = g$ in inequality (15). In this case, $E_-(g, g) = \emptyset$ and

$$\Omega = E_+(g, g) \cup E_0(g, g),$$

hence it follows from (15) that

$$2\|f + g\|_{\Omega, p}^p \leq \|f + 2g\|_{\Omega, p}^p + \|f\|_{\Omega, p}^p, \tag{21}$$

and symmetrically

$$2\|f + g\|_{\Omega, p}^p \leq \|2f + g\|_{\Omega, p}^p + \|g\|_{\Omega, p}^p. \tag{22}$$

Therefore, according to inequalities (19), (20), (21), (22) and similar to the analysis of Corollary 2, Corollary 3 and Corollary 4 one can deduce inequalities (16), (17) and (18), and complete this proof. \square

REMARK 4. The special case " $\lambda = 1/2$ " of inequalities (16) and (17) yield

$$\|f + g\|_{\Omega, p}^p + \|f - g\|_{\Omega, p}^p \geq \|f\|_{\Omega, p}^p + \|g\|_{\Omega, p}^p \geq \left\| \frac{f+g}{2} \right\|_{\Omega, p}^p + \left\| \frac{f-g}{2} \right\|_{\Omega, p}^p,$$

which has following equivalent form

$$\|u\|_{\Omega,p}^p + \|v\|_{\Omega,p}^p \geq \left\| \frac{u+v}{2} \right\|_{\Omega,p}^p + \left\| \frac{u-v}{2} \right\|_{\Omega,p}^p \geq \left\| \frac{u}{2} \right\|_{\Omega,p}^p + \left\| \frac{v}{2} \right\|_{\Omega,p}^p,$$

if let $f = (u + v)/2$, $g = (u - v)/2$. The performance of above inequality approximates (but less precise than) that of Clarkson’s inequality. Comparatively speaking, the advantage of Corollary 5 lies in its wider scope of application since it holds for $p \in [1, \infty)$.

We have to point out that the above discussion requires that the norm $\|\cdot\|_{\Omega,p}$ depends on the parameter p which is also the exponent of the power function. A natural question is whether there is an appropriate inequality for the p -power function of an arbitrary norm $\|\cdot\|_{\Omega,q}$ while $q \neq p$. The complete study of this issue await further research in the future, and here we prepare a narrow answer for the case that the two involved norms are equivalent.

DEFINITION 1. ([14], [15]) We say the two norms $\|\cdot\|_q$ and $\|\cdot\|_p$ are equivalent on space Y , if there exist real positive constants m and M such that

$$m\|f\|_p \leq \|f\|_q \leq M\|f\|_p, \quad \forall f \in Y. \tag{23}$$

In fact, (23) holds for all the finite-dimensional spaces, such as $Y = \mathbb{R}^n$ (see [15]).

COROLLARY 6. Let $p \in [1, \infty)$ and norm $\|\cdot\|_{\Omega,p}$ be defined by (10). Suppose norms $\|\cdot\|_{\Omega,q}$ and $\|\cdot\|_{\Omega,p}$ satisfy the relation as (23), and the constants m and M are defined by (23), then for $\forall f, g \in L^p(\Omega, \mu)$, $\lambda \in [0, 1]$, the following inequalities are true.

$$\|f + g\|_{\Omega,q}^p + \|f - g\|_{\Omega,q}^p \geq 2 \left(\frac{m}{M}\right)^p \left[\lambda \|f\|_{\Omega,q}^p + (1 - \lambda) \|g\|_{\Omega,q}^p \right], \tag{24}$$

$$\|f\|_{\Omega,q}^p + \|g\|_{\Omega,q}^p \geq 2 \left(\frac{m}{M}\right)^p \left[\lambda \left\| \frac{f+g}{2} \right\|_{\Omega,q}^p + (1 - \lambda) \left\| \frac{f-g}{2} \right\|_{\Omega,q}^p \right], \tag{25}$$

$$\|f + g\|_{\Omega,q}^p \leq \frac{1}{2} \left(\frac{M}{m}\right)^p \left[\lambda \|f\|_{\Omega,q}^p + (1 - \lambda) \|g\|_{\Omega,q}^p + \lambda \|f + 2g\|_{\Omega,q}^p + (1 - \lambda) \|2f + g\|_{\Omega,q}^p \right]. \tag{26}$$

Proof. Because

$$\begin{aligned} & \|f + g\|_{\Omega,q}^p + \|f - g\|_{\Omega,q}^p \geq m^p \left[\|f + g\|_{\Omega,p}^p + \|f - g\|_{\Omega,p}^p \right] \quad (\text{from (23)}) \\ & \geq 2m^p \left[\lambda \|f\|_{\Omega,p}^p + (1 - \lambda) \|g\|_{\Omega,p}^p \right] \quad (\text{from (16)}) \\ & \geq 2 \left(\frac{m}{M}\right)^p \left[\lambda \|f\|_{\Omega,q}^p + (1 - \lambda) \|g\|_{\Omega,q}^p \right], \quad (\text{from (23)}) \end{aligned}$$

the inequality (24) is proved.

Inequality (25) is equivalent to inequality (24), and its proof is omitted.

As for the inequality (26), we have

$$\begin{aligned} & \|f + g\|_{\Omega, q}^p \leq M^p \|f + g\|_{\Omega, p}^p \quad (\text{from (23)}) \\ & \leq \frac{1}{2} M^p \left[\lambda \|f\|_{\Omega, p}^p + (1 - \lambda) \|g\|_{\Omega, p}^p + \lambda \|f + 2g\|_{\Omega, p}^p + (1 - \lambda) \|2f + g\|_{\Omega, p}^p \right] \\ & \hspace{20em} (\text{from (18)}) \\ & \leq \frac{1}{2} \left(\frac{M}{m} \right)^p \left[\lambda \|f\|_{\Omega, q}^p + (1 - \lambda) \|g\|_{\Omega, q}^p + \lambda \|f + 2g\|_{\Omega, q}^p + (1 - \lambda) \|2f + g\|_{\Omega, q}^p \right]. \\ & \hspace{20em} (\text{from (23)}) \end{aligned}$$

Thus we get inequality (26) and complete this proof. \square

We recall that $L^2(\Omega, \mu)$ is an inner product space. Therefore, according to equality (2) and similar to the analysis as Corollary 6 we give following corollary.

COROLLARY 7. *Assume norm $\|\cdot\|_{\Omega, 2}$ is defined by (10) ($p=2$). Suppose norms $\|\cdot\|_{\Omega, q}$ and $\|\cdot\|_{\Omega, 2}$ satisfy the relation as (23), and the constants m and M are defined by (23), then for $\forall f, g \in L^2(\Omega, \mu)$, the following inequalities hold.*

$$\|f + g\|_{\Omega, q}^2 + \|f - g\|_{\Omega, q}^2 \geq 2 \left(\frac{m}{M} \right)^2 (\|f\|_{\Omega, q}^2 + \|g\|_{\Omega, q}^2), \tag{27}$$

$$\|f\|_{\Omega, q}^2 + \|g\|_{\Omega, q}^2 \geq 2 \left(\frac{m}{M} \right)^2 \left(\left\| \frac{f + g}{2} \right\|_{\Omega, q}^2 + \left\| \frac{f - g}{2} \right\|_{\Omega, q}^2 \right). \tag{28}$$

Proof. Since

$$\begin{aligned} & \|f + g\|_{\Omega, q}^2 + \|f - g\|_{\Omega, q}^2 \geq m^2 (\|f + g\|_{\Omega, 2}^2 + \|f - g\|_{\Omega, 2}^2) \quad (\text{from (23)}) \\ & = 2m^2 (\|f\|_{\Omega, 2}^2 + \|g\|_{\Omega, 2}^2) \quad (\text{from (2)}) \\ & \geq 2 \left(\frac{m}{M} \right)^2 (\|f\|_{\Omega, q}^2 + \|g\|_{\Omega, q}^2), \quad (\text{from (23)}) \end{aligned}$$

we obtain inequality (27). Inequality (28) can be obtained similarly. \square

5. Conclusion

By some elementary technique we establish a three-variable inequality for the p -power function of the norms on some metric spaces, such as the inner product space and $L^p(\Omega, \mu)$. However, there are still some problems that need further study, namely,

- (i) Does the inequality still hold for $\|\cdot\|_q^p$ where the norm $\|\cdot\|_q$ is not equivalent to the norm $\|\cdot\|_p$?
- (ii) Does the inequality hold for a more generalized metric space?

Further research and the improvement or generalization on the existing primary work is undoubtedly the next goal in the future.

Acknowledgement. This work was supported by the National Natural Science Funds of China (No. 11371081, No. 61575090, No. 61775169) and the State Key Laboratory of Synthetical Automation for Process Industries Fundamental Research Funds, China (No. 2013ZCX02).

REFERENCES

- [1] P. BORWEIN, T. ERDÉLYI, *Polynomials and Polynomial inequalities*, Springer-Verlag New York Inc., New York, 1995.
- [2] R. BHATIA, *Matrix Analysis*, Springer-Verlag New York Inc., New York, 1996.
- [3] R. T. ROCKAFELLAR, *Convex Analysis*, Princeton University Press, Princeton, 1997.
- [4] L. MALIGRANDA, *Some remarks on the triangle inequality for norms*, Banach J. Math. Anal., 2, 2, 2008, 31–41.
- [5] J. KUANG, *Applied Inequalities (in Chinese)*, Shandong Science and Technology Press, 4th Edition, Jinan, 2010.
- [6] W. WANG, *Approaches to Prove Inequalities (in Chinese)*, Harbin Institute of Technology Press, Harbin, 2011.
- [7] V. CIRTOAJE, *The best lower bound for Jensen's inequality with three fixed ordered variables*, Banach J. Math. Anal., 7, 1, 2013, 116–131.
- [8] T. KOCHANEK, M. LEWICKI, *Characterisation of L_p -norms via Hölder's inequality*, J. Math. Anal. Appl., 399, 1, 2013, 403–410.
- [9] Y. NAKASUJI, *Refinements of some inequalities related to Jensen's inequality*, J. Math. Inequal., 8, 4, 2014, 685–692.
- [10] S. G. WALKER, *On a lower bound for the Jensen inequality*, SIAM J. Math. Anal., 46, 5, 2014, 3151–3157.
- [11] G. LU, *New refinements of Jensen's inequality and entropy upper bounds*, J. Math. Inequal., 12, 2, 2018, 403–421.
- [12] J. MIĆIĆ HOT, Y. SEO, *An interpolation of Jensen's inequality and its applications to mean inequalities*, J. Math. Inequal., 12, 2, 2018, 303–313.
- [13] R. A. ADAMS, J.J.F. FOURNIER, *Sobolev Spaces*, Elsevier Pte. Ltd., 2nd Edition, Singapore, 2009.
- [14] D. XIA, Z. WU, S. YAN, W. SHU, *Real Variable Function Theory and Functional Analysis(II) (in Chinese)*, Higher Education Press, 2nd Edition, Beijing, 2010.
- [15] G. H. GOLUB, C. F. VAN LOAN, *Matrix Computations*, Post & Telecom Press, 4th Edition, Beijing, 2014.

(Received March 18, 2019)

Zheng Li

Department of Mathematics
Northeastern University
Shenyang 110004, P.R.China

e-mail: neu_lizheng@hotmail.com, lizheng_mail@sina.com

Tie Zhang

Department of Mathematics
Northeastern University
Shenyang 110004, P.R.China

e-mail: ztmath@163.com

Chang-Jun Li

School of Computer and Software Engineering
University of Science and Technology Liaoning
Anshan, 114051, P.R.China

e-mail: cjliustl@sina.com